TAHBZIEITISD (N

Hold down clamp (Vertical handle)

~ RIVHiEE!)

HOLD DOWN ACTION

B 757N Y BRIV
Hold down clamp (Vertical handle)

No.HV450/Hv450-25

2.25kN (225kgef)

ass4/5205 (5U5)

AF—) (Steel)
A7 -2 (Stainless stesl)

TS ¥~—2 (Flange base)
ZF—IEF I O L4 F I MNeoprene Spindle)
MBX50 1%, AF A LAET I ILFAT A LAK

N (Meoprene Stainless Spindle) MBx 50 13,
Fuw b (Nut) 2{8/E4% (Washer) 241

No.HV550

?

M8x50

32 16

_JE
-

Stainless t=3.0 57

44.6

3.4kN (340kgf)

1 eria ZF = (Steel)
732 %~—2 (Flange base)

JLft# b (Neoprene Spindle) M10x59 1%
Fw b (Nut) 2/ 5=+~ (Retainer) 118

No.HV650

M10X59

85
43 19

P

e

o

3.4kN (340kgf)

" ZF - (Steel)
752 U~—2 (Flange base)

JLft 4k F (Neoprene Spindlel M10x59 13
Fu b (Nut) 2{8/E£ (Washer) 241

miting method

4-08.4

65.2

M10X59

[1

3.2
43 19
m)=)

(200)

%



